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(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt 9 questions in all. Question no. 1 is 

compulsory. 

1. 	(a) Define the following terms : 	 1x5=5 
(i) Biosphere 
(ii) Biomagnification 
(iii) Climate 
(iv) Population explosion 
(v) Monoculture 

(b) Fill in the blanks : 	 1x5=5 
(i) 	Chemicals in drugs that cause defects 

in the development of embryo 
resulting in birth defects are called 

(ii) A histogram of population with an 
expanding base is called 	 
histogram. 

(iii) Lead poisoning leads to 	 
	 in developing children. 

(iv) External capital inflow can be 
increased by growing 	 
crops. 

(v) The main reason for extinction of 
species is 	 destruction. 
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(c) 	Indicate whether the following statements 
are true or false : 	 1x5=5 

(i) Increase in human population puts 
more pressure on land. 

(ii) Pollutants present in soil do not affect 
growth of plants. 

(iii) Any natural water body containing 
limited amount of degradable organic 
wastes is able to purify itself provided 
there is sufficient - dissolved oxygen 
in the water. 

(iv) The Chernobyl accident occurred 
because of not following safety 
procedures in the nuclear power 
plant. 

(v) Burning of coal by industries is likely 
to increase atmospheric carbondioxide 
level. 

(d) Give the answer in one word/ sentence only :
1x5=5 

(i) The organisms that feed on 
decomposed remains of plants and 
animal. 

(ii) Progressive degeneration of liver 
disease is often caused by alcohol 
abuse. 

(iii) The physical processess that looser or 
tear off soil particles and displace the 
detached particles from parent sites. 

(iv) An apparatus used for cleaning air of 
its pollutants by passing the polluted 
air through a space containing wet 
packing material and water spray. 

(v) The sum total of living and non living 
components, influences and events 
surrounding an organism. 
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2. Discuss methods to disseminate environmental 10 
information. 

3. Discuss the South Asia Cooperative Environment 10 
Programme (SACEP). 

4. (a) Write characteristic features of fresh water 	7 
ecosystem. 

(b) Describe Parasitism. 	 3 

5. (a) Write a note on Industrial wastes. 	 6 
(b) "Slums cause deterioration of surrounding 	4 

region and are a threat to human health". 
Comment. 

6. Discuss the effects of major air pollutants on 10 
health. 

7. (a) Name any two - non-governmental 	5 
organisations (NGOs) and describe their role 
in improving the quality of environment. 

(b) Give an account of strategies for sustainable 	5 
Industrial development. 

8. (a) "Soil erosion is the greatest danger to the 	6 
country's future plans of agricultural 
production". Discuss. 

(b) Discuss the effect of urbanisation on 
	4 

animals. 

9. (a) Explain Biological Oxygen Demand (BOD). 	5 
(b) Differentiate between water and wind 	5 

erosion. 
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10. Differentiate between any four of the following : 
(a) Primary pollutants and secondary 

pollutants. 	 21/2x4=10 
(b) Frontier economy and spaceship economy. 
(c) Organic fertilizers and chemical fertilizers. 
(d) Agricultural societies and industrial 

societies. 
(e) Primary treatment and secondary 

treatment of sewage. 

11. Write short notes on any two of the following : 
(a) Social environment 	 2x5=10 
(b) Shifting cultivation 
(c) Radioactivity 
(d) The water (prevention and control of 

pollution) Act 
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